
YgWIW qe§M W^Yrdr dBr ³pc`
(Ythcy YgWIWp£ Yy `p`dy qe§M)

\pqdgr ²¥¾^c: WpcrI:

\ogWpeH Yp ²¾p`:
for/Ht./for`Wr \qhdp ²¾p` gc²¾p`p

g¥\cH ²¥¾^c:
A±gRrTr Kc A±gRrTr Y³Wc A±HgR. ApBrA±gTr `}^pqBd

Br`yd ApBrTr

gpcy gXp²¾ kcvcr h²¾& (WthpTr ^y²¾Wr \oqW Hpcephr Hc²¾ dBr K§R W~ K§R qB§H g¥\cH ²¥¾^c kcvcr h±& _qe§I Yy g¥Mpc Yy dBr E\o}HW q^Ap²¾W g¥\cH eycey Yp ²¾er²¾rHc²¾ HrWp OpeyJp)&

`| qB§Xy K}fVp HcYp hp£ qH hyS¾p£ q^Ap²¾W ²¾p` epdy ̂ ¡Hg qe§M ̀ ycy YgWIW h²¾ O} Hr (qY²¾) ________________________  ________ 20 ________________________ ²¥¾¯¯ 
h}By er AWy qBg Yr Jephr h}Br h±& ̀ | qBh er q^Ap²¾ HcYp hp£ qH qBg Yy ̂ pAY, hyS¾p£ W^Yrd h}Br YgWIW ²¥¾v qBg \pqdgr dBr q`drAp£ _qe§I erM h}V epdrAp£ W^YrdrAp£ ghr 
`q²¾Ap Opey&

`hr²¾p

YgWIW 1 Yp ²¾`v²¾p (\tcpVp) YgWIW 1 Yp ²¾`v²¾p (²¾ep£)

YgWIW 2 Yp ²¾`v²¾p (\tcpVp) YgWIW 2 Yp ²¾`v²¾p (²¾ep£)

^|H Yp ²¾p`: 

^|H IpWp ²¥¾^c:

^|H IpWp ZpcH Yy O²¾` Yr q`Wr:

^|H WgYrHr: (^±H Yy AqZHpcr ed~ _qcAp OpV epdp)

^|H `tdpk` Yp ²¾p`:

^|H `tdpk` Yp H}T:

fpIp ²¾p`:

^|H `}hc

WpcrI:

S§¾\p
AWy
g`p£ 

Hyed Y³Wc Yr ecW~ dBr:

^op£M qB²¾ MpcO (^rApBrgr) Yp ²¾p`: 

^rApBrgr `tdpk` ApBrTr:                                                  g\pcH Hp§d ApBrTr

gH±²¾ Hc²¾ epdr H±^r²y¾R

fpIp ²¾p`:

S§¾\p
AWy
g`p£ 

^op£M qB²¾ MpcO Yy YgWIW

WpcrI:

cgrY
qBg hp`r h± YgWIW qe§M W^Yrdr dBr Ackr Yr cgrY dBr

\pqdgr ²¥¾^c: 

\ogWpeH Yp ²¾p`:

fpIp ²¾p`

\op\W HcWp:


